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Topic:- Child Development & Pedagogy (CDP)

1) A teacher teaches a topic by telling students to come up with questions and
presentations. Which principle of learning is he/she following? /WﬁT&'@%’H’f
&1 TP vy ugrar 8 3R 39 Wit vy iR ugfaal & 91y 3 & fe
Fgdl ¢ | FAufaRead ¥ 9 98 f5a Risia 1 sgRu s @182

1. Transfer of learning / &WWW

2. Help in reconstruction /g?ﬁﬂfwﬁnaa

3. Active participation /Wﬂ‘s’wﬁm

4. Learning as a social activity / T TAfafY & =9 o S

Correct Answer :-

« Active participation /Wﬂgullilﬂl

2) What is the most important thing a child should learn from his failures in

school performance /waﬁﬁﬁmﬁm%u@ﬁﬁ 3T BT |
I He@YUl 9T T JIa-1 ariee?

1. To approach challengers with multiple perspectives. /ﬁmﬁﬂ:ﬁ?ﬂaﬁ
qrell o HY ST

2. To change their subjects. / 30+ fawai &1 SgaT|

3. To work on time Management skills. / THI ¢ HIYA W BTH HAT|

4. To memorize the one right way of achieving success. / dHhddl UM & el did] &l
Yl G-I

Correct Answer :-



« To approach challengers with multiple perspectives. /ﬁ?@m@ﬁ?ﬂaﬁ
qrell o HT ST

3) Who measured personality based on the two dimensions- extroversion and

introversion? / fpu fddea & 3Mpa— aﬁanal 3R 3fia® 3l SmaTHl U’
fyetfya faar

1. Cattells/ hcd
2. Eysenck/m

3. Freud/ /IUS
4. Bandura/ SIgXT

Correct Answer :-

. Eysenck/?rﬂ@?;

4) can be used to conduct both formative and summative

assessment. / mm“ﬁnfunm GﬁT NP P ?ﬂ:ﬁ
B B & fore fovar o IPpar 21

1. Homework / W

2. Evaluation of teacher effectiveness / TRI&& THTGRIeId 1 i
3. Portfolios / TS WITerdl
4. Self-assessment of students / BTH| T W-3fThel

Correct Answer :-

. Portfolios / TCWhITerAl

5) has developed a sociocultural approach to cognitive development. /
= HFTES I & R T queRdt ¥ o fasRd
fear gl

1. Lev Vygotsky / INCEIEUIREDS

2. Erik Erikson / TR® S(HT=
3. Jean Piaget / S foarst



4. Jerome Bruner / ORI §%

Correct Answer :-

. Lev Vygotsky / [oTd argiieqet

6) Children can be fully toilet-trained by the age of WA i 1k:al 3|

TG 9P T a¥e | Mareay-uiRnfee fear smasarg|
1. One year / T @Y

2. Two years / &l 99

3. Three years / dHay

4. Four years / IR a§

Correct Answer :-

« Three years / dHay

7) What type of theory of development does Erikson propose? / TR 1 foa

UhR & faeTd & Risid o ufduried fear?
1. Cognitive theory / TR RIGid

2. Learning theory / e Rigid

3. Psychosexual theory / EEISIRIED Rrgid

4. Psychosocial theory / AAIRITHIISI Rigid

Correct Answer :-

. Psychosocial theory / FIITHTfSIh Rigid

8) What is meant by Classical Conditioning? / REAT P e (FATRIB
HSITT) BT HAAS HT 32

1. A stimulus acquires the capacity to evoke a response which was originally evoked

by another stimulus. / U d??l\:l"ll, Uh maﬁmWﬁﬁ &HdT Urtd
BT & S ol U ¥ Teb 3R I gRT Wie1ied 1 718 gl |

2. A stimulus loses the capacity to evoke a response which was originally evoked by

another stimulus. / U da\rl"ll, Uh qﬁmﬁmmﬁﬁ &‘Iﬂ?ﬂ@é?ﬁ%




o Jo ©U J T 3R IS gRT Wnfed &1 718 gt 31

3. A voluntary response is lost due to a negatively reinforcing stimulus. / TP RIHD

XY Y Hold B34 aTelt 3ol & HRUT Wiwse gfafshar @l S gl

4. A voluntary response is followed by a reinforcing stimulus. / Y Wiess ufafspar
& §1¢ U Holgd 3o 8k g

Correct Answer :-

« A stimulus acquires the capacity to evoke a response which was originally evoked

by another stimulus. / T IioiHT, Teh WAl &l TTied B I &Hdl U
HRT € Ol A U I T 3R IoHT gRT Wilied &1 715 gidl ¢

9) What memory is used to remember how to make a paper plane? / TR @+

TIM & TP B Tg W & e fvw wfa o1 3w farar sirar 32
1. Echoic memory / Ufeaf-id {fd

2. Iconic memory / &W F{ﬁ[

3. Semantic memory / XTsard Wfd

4. Procedural memory / HishdTcdD {fdl

Correct Answer :-

« Procedural memory / PIERIRIEY Fﬂﬁf

10) What is the term used to describe the person that a child observes and

possibly imitates in observational learning? / 39 iR BT AR A & ﬁrq
5 2Teg 71 v fhaT wiTaT @ S = Derohtg SiftRTy & Ufédrd sxar g
HHAd: IHP! 7P d IARAT 82

1. Adult / 9gIH
2. Model / ATed

3. Prototype / Eh'cﬁa'{q
4. Teacher / TRT&/®H

Correct Answer :-

. Model / OIS



11) 'What could be the best way for a teacher to motivate children in the early-
adolescent years to go improve academic performance and develop interest in

school?/WﬁTW%mﬁﬁmmm%ﬁmﬁm
o= # GUR &1 SR faemaa o 3fu fosfya 1 & e iR s &1
I 33T A BT HT 8l ghdl 22

1. Increase peer pressure and competition / JeUTdl T gard 3R ufmyf ot dgldh

2. Induce fear of tests, scores and failure through learned helplessness / 3T

ST &b ATH T TN, 3fpl 3R B b S Bl HH HIh

3. improve intrinsic motivation by developing concentration on learning tasks and
enhance confidence in their intellectual abilities / 3fETTH BT U UhTUdIl
I Ra Bk 3R TPt Afgd emarst # ARy dgrar fialke I &
JYUR hR

4. Provide rewards and incentives / YIh R 3R JITE GhR

Correct Answer :-

« improve intrinsic motivation by developing concentration on learning tasks and
enhance confidence in their intellectual abilities / S{TTH ObILITW U TYdI
AP RId HIPb 3R I gD &Harsl H TARIYN TGTHR 3D URom |
YR h

12) Extreme deficits in social understanding is common in what childhood
disorder? /

HTHITS TS § AU HHY, TeAaIT & (5 faeR § v g2
1. Dyslexia / fSTifaRaan

2. Dyscalculia / FSEmaragferan

3. ADHD / TSI S (saMTHIg Ga sifaaferadr fder )

4. Autism / 3{TTCTH ) STEAHIR(

Correct Answer :-

. Autism / 3T )STAIHIG(

13) Humanistic theory of personality is proposed by: / Sfaded BT HTHATATG]
Risia 3779 gRT wRanfaa fbar mar

1. Abraham Maslow / 3{dllgH ARG



2. Carl Rogers / CARRISES]
3. Pavlov / UTddld
4.Carl Jung / ®Td T

Correct Answer :-

« Abraham Maslow / 3{dlleH ARG

14) Schooling is an important requirement for children when they are

administered this test. / 5T§ g1 P g UII&UT 34T ST a9 D! ?T'%FT
g1 U HEwqul ST ¢:

1. Verbal intelligence test / e Eﬁm TRI&UT
2. Personality test / Hfdda U'P\"&FUT

3. Culture-fair test / PedR-BrdR URIEfUT

4. Performance intelligence test / PLAE] §@ TRI&T

Correct Answer :-

« Verbal intelligence test / MR Sifgemd gtem

15) Changes that are not due to learning can be attributed to: / gf¥ad= =il

3IeATH & SR 81 ¢, I SH o TR ST 1 Hehdl 3
1. Maturation / TRTEH

2. Skills / W

3. Social influence / THTSIH THTT

4. Cultural influence/ &P e THTT

Correct Answer :-

e Maturation / qﬁ-qw-[

16) The term Familial factors refers to influence of ./ UTRATR® PRSP

RIS & YU B! HefHd sear gl
1. family members / UTRATRD TG
2. school environment on learner/ TRI&IT ff R IFEINEI & Iﬂaﬂ



3. facial expressions/ dg &b HId
4. friend/ f&1

Correct Answer :-

. family members / Uikaie Jed

17) The role of heredity starts in an individual’s life at the time of ./

%ﬂﬁ&lﬁﬂﬁﬂ{ﬁﬂ,ﬁiﬁwﬁr%vﬂaﬁﬁ & 9T A = gt
|

1. Going to school / CEINRESIE]
2. Maturity / gRgerdr

3. Conception / TR

4, Birth / oTH

Correct Answer :-

« Conception / TR

18) A hearing loss between the range of 41 to 60 decibels is known as

hearing impairment. / 41 3 so%ﬁlaﬁaﬁuw%aﬁaéﬁmﬁaehﬁaﬁ
YU GIY & U | ST SITar g |

1. Moderate / H&H
2. Profound / 7Te
3. Mild / I

4. Severe / GIE

Correct Answer :-

. Moderate / HIH

19) Law of Effect was introduced by ./ 9uTa &1 & gRT
T o T o

1. Thorndike / ?—l|:13|3$
2. Skinner / PR



3. Kohler / W
4. Pavloy / UTdd@Id

Correct Answer :-

. Thorndike/?—ll:13|§$

20) In inclusive pedagogy, computer is used ./ gHTARN fRrguremea |,
s PISEENT_____ fraremars

1. To motivate the learner / fQT&‘IT ffpIRTFRA P %I'Q
2. To provide feedback / Ufafeear YUald FH b f?«nq
3. All of these / STgard T

4. To interact with the learner / TQT&IT?ﬁ% 1Y STdid B B 1%111

Correct Answer :-

. All of these / Tdad T+t

21) Which of the following is not associated with chunking? / fafafead s
i Wt AT @ T TE 72

1. Meaning / 3

2. Miller / R

3. Grouping of seven / HId ®T HHg

4. Long term memory / HBEAINER Fﬂﬁ[
Correct Answer :-

« Long term memory / FEEAINED Fﬂﬁf

22) Which of the following is not a product of learning? / Fufafea A a1

T &7 TH gfume T8 82
1. Knowledge / faem

2. Physical structure / Hifdes GaAT
3. Skill / I



4. Maturation / URU&dl

Correct Answer :-

. Maturation / URU&Hd

23) Which of the following development stages is part of Kohlberg’s theory of

moral development? / fFrafafaa & 9 #1991 faem™ IR, ﬁmﬁ & Ao
oo & Risia o1 ferwa 82

1. Punishment and obedience orientation/ TSI 3R SATTHIR] ddj@lnlcbwl

2. Interpsychological/ gay Isécb\l SISEEY
3. Sensorimotor/ YTIHICI
4. Young adolescent/ dIl fHRIR

Correct Answer :-

. Punishment and obedience orientation/ TolT 3R SMRTHINGT dﬂj{gnIOhQUl

24) Which one of the following is not a process of memory? / Fafafead s

B4 ¥t Ffd @HRY B T ishar T8l 82
1. Retention / 3AYRUT (RSTM)

2. Re-planning / G:a1e (-t

3. Recall / TR0T (RapTeT)

4. Learning / 31FEATH (@)

Correct Answer :-

« Re-planning / EHﬁ'ChGFT (P\’—Wﬁ’rl)

25) Which type of parenting is characterized by emotional detachment? / foa
TSR BT UTA-UTT0T, HTTATHD ST B fIeraorar g2

1. Uninvolved parenting / 3d UTa Il

2. Authoritative parenting / R IREAIREA R RS
3. Dual worker parenting / GIg<1 ¥ UTH-GIeoT
4. Single parenting / T el GTA--UTS0T



Correct Answer :-

. Uninvolved parenting / 3&g UTe 1901

26) To improve class discipline, the teacher has to: / H&T SR DI dgR
A & ferg, fRrare &

1. Call parent teacher meeting to discuss the situation. / RIfm Al HA & forw
HHHTaD-RIgieh 93 B &I Al

2. Note specific instructions of class rules in the diary. / SR H sl gl &
fre= 3! fafkie = ¥ Aie S 71Ul

3. Evaluate his/her methods and approaches and material./ 301 fafdray 9 = f¥eiur
3R IR &7 Jedich] BT AfeT|

4. Consult the class and agree upon a series of punishment./ P&l T Ref BT
3R <8 DI Ue YRael R TgHd 8IH1 AT

Correct Answer :-

« Evaluate his/her methods and approaches and material./ 301 fafdray 9 = f¥eiur
3R TR &1 Hedich AT AlfeT|

27) CANCELLED

Which of the following situations show aptitude for verbal comprehension? /

fFrafafaa o @ o1 I ufifRifaar, gifees aus & fag siflghy a=iid 82
1. Writing a poetry. /Wﬁ?ﬂml

2. Listening and reacting to a friend’s problem. /Wﬁﬁﬁ%ﬁw 3R
gfcfehar ¢l

3. Acting in a school play. / Ueh fagiTerdt Ared O SfH=g &A1
4. Giving a speech in class. /$&ﬂﬁ HTYOT AT

Correct Answer :-

« Listening and reacting to a friend’s problem. /Wﬁaﬁwﬁw 3R
gfefehar ¢TI

28) CANCELLED



Which of the following points is not consistent with John Dewey’s approach? /

Frafafea 4 3 oi9-ar fdg o4 g8 & SPHIU & U gl 82
1. Child is an active learner not a passive observer. / Il U Tfhg 3‘|f€|T|TITJh_€|'f %
i T FIfSry Defe 8T B

2. Human beings learn through a 'hands-on' approach. / HJ® ‘%@{ﬂ-\’rﬁq ' ERHIOT Y
ST PRAT B |

3. Learning should be relevant and practical, not just passive and theoretical. /

3T, RIS 3R ATagIRe BIF1 A1RT, 7 fb dhad Afepy 3R Igifas |

4. The idea that one will be able to quickly recall the meaning of the material the

more one repeats it. / TR gz ' fo =afaa forg g &) Wﬁm%,
3957 31 Seet A ITg B Job Tl |

Correct Answer :-

« The idea that one will be able to quickly recall the meaning of the material the

more one repeats it. /W%%%ﬁﬁ!ﬁﬁﬁ &rﬁwaﬁm%,
3BT Y STea! I TG HR B

29) A 5-year-old child can differentiate his mother from a dog. This is due to which of the
following cognitive processes? / 5 HId &I ddl 3U-it |i &I U Qﬁ T T HY GHdl
71 g5 fFufafea Jammere uitkars | 9 fras eRr g2

1. Concept /3{dYRUI]
2. Attention / 3{dYTd

3. Sensation /ﬂaa_'ﬂ

4. Perception /Eﬁ‘t‘l

Correct Answer :-

« Concept /3{dYURUI]

30) Bipolar disorder also used to be known as: / f@ﬂfﬂ faer (m
fewaiier) &) 59 99 ¥ i ST S 8:

1. Antisocial personality Syndrome/ 3T fddc ﬁl@jﬁ
2. Messiah Disease/ II@_GT I

3. Manic-depression/ 7TgRT 3ddIq




4. Munchausen syndrome/ 1dd ﬁl@'ﬁ[

Correct Answer :-

« Manic-depression/ TgR[ Hddlq

Topic:- General English(L1GE)

1) Read the passage and answer the question that follows:

The Battle of Chancellorsville, one of the most famous battles of the Civil War, took place in
Virginia in 1863. For months, the two armies had been staked out on opposite banks of a narrow
river. The Confederate troops were led by the most revered military tactician in American history,
General Robert E. Lee. The Union soldiers were led by "Fighting"” Joe Hooker. In appearance,
personality, and lifestyle, these men were perfect opposites. Lee, an older man in poor health
with a gray beard, had a somber, measured demeanor, was devout and principled. Hooker was a
blond, strapping young man and was known for his rollicking enjoyment of both women and
whiskey. Despite the fact that the Confederacy had won the last four major battles and the Union
soldiers were famished, exhausted, and demoralized, Hooker proclaimed, "My plans are perfect”.
Why was Hooker so confident? He used spies, analysts, and even hot air balloons to compile a
vast amount of intelligence about Lee’s army. He had discerned that Lee had only 61,000 men to
Hooker’s own 134,000. Buoyed by his superior numbers, Hooker covertly moved 70,000 of his
men fifteen miles up and across the river, and then ordered them to sneak back down to position
themselves behind Lee’s army. Satisfied with his advantage, Hooker was convinced that Lee's
only option was to retreat to Richmond. Yet despite his disadvantages of both numbers and
position, Lee did not retreat.

What can be devised about General Lee from this passage?
1. He could have made better plans for fighting the war.

2. He should have retreated instead of fighting.

3. He was a scatter brained person who knew how to fight.

4. He was a practical and principled man who knew the tactics of war.

Correct Answer :-

» He was a practical and principled man who knew the tactics of war.

2) Read the passage and answer the question that follows:

The Battle of Chancellorsville, one of the most famous battles of the Civil War, took place in
Virginia in 1863. For months, the two armies had been staked out on opposite banks of a narrow
river. The Confederate troops were led by the most revered military tactician in American history,
General Robert E. Lee. The Union soldiers were led by "Fighting"” Joe Hooker. In appearance,
personality, and lifestyle, these men were perfect opposites. Lee, an older man in poor health
with a gray beard, had a somber, measured demeanor, was devout and principled. Hooker was a
blond, strapping young man and was known for his rollicking propensity for both women and
whiskey. Despite the fact that the Confederacy had won the last four major battles and the Union
soldiers were famished, exhausted, and demoralized, Hooker proclaimed, "My plans are perfect”.
Why was Hooker so confident? He used spies, analysts, and even hot air balloons to compile a
vast amount of intelligence about Lee’s army. He had discerned that Lee had only 61,000 men to



Hooker’s own 1,34,000. Buoyed by his superior numbers, Hooker covertly moved 70,000 of his
men fifteen miles up and across the river, and then ordered them to sneak back down to position
themselves behind Lee’s army. Satisfied with his advantage, Hooker was convinced that Lee’s
only option was to retreat to Richmond. Yet despite his disadvantages of both nhumbers and
position, Lee did not retreat.

How many men did Hooker position behind Lee's army?
1. 64,000

2. 70,000

3. 1,34,000

4. 61,000

Correct Answer :-

e 61,000

3) Read the passage and answer the question that follows:

The Battle of Chancellorsville, one of the most famous battles of the Civil War, took place in
Virginia in 1863. For months, the two armies had been staked out on opposite banks of a narrow
river. The Confederate troops were led by the most revered military tactician in American history,
General Robert E. Lee. The Union soldiers were led by "Fighting"” Joe Hooker. In appearance,
personality, and lifestyle, these men were perfect opposites. Lee, an older man in poor health
with a gray beard, had a somber, measured demeanor, was devout and principled. Hooker was a
blond, strapping young man and was known for his rollicking propensity for both women and
whiskey. Despite the fact that the Confederacy had won the last four major battles and the Union
soldiers were famished, exhausted, and demoralized, Hooker proclaimed, "My plans are perfect”.
Why was Hooker so confident? He used spies, analysts, and even hot air balloons to compile a
vast amount of intelligence about Lee’s army. He had discerned that Lee had only 61,000 men to
Hooker’s own 134,000. Buoyed by his superior numbers, Hooker covertly moved 70,000 of his
men fifteen miles up and across the river, and then ordered them to sneak back down to position
themselves behind Lee’s army. Satisfied with his advantage, Hooker was convinced that Lee’s
only option was to retreat to Richmond. Yet despite his disadvantages of both numbers and
position, Lee did not retreat.

After reading this passage, you can conclude that Hooker was
1. hopeful

2. vain

3. disliked

4. ignorant

Correct Answer :-

4) Read the passage and answer the question that follows:

The Battle of Chancellorsville, one of the most famous battles of the Civil War, took place in
Virginia in 1863. For months, the two armies had been staked out on opposite banks of a narrow



river. The Confederate troops were led by the most revered military tactician in American history,
General Robert E. Lee. The Union soldiers were led by "Fighting" Joe Hooker. In appearance,
personality, and lifestyle, these men were perfect opposites. Lee, an older man in poor health
with a gray beard, had a somber, measured demeanor, was devout and principled. Hooker was a
blond, strapping young man and was known for his rollicking propensity for both women and
whiskey. Despite the fact that the Confederacy had won the last four major battles and the Union
soldiers were famished, exhausted, and demoralized, Hooker proclaimed, "My plans are perfect”.
Why was Hooker so confident? He used spies, analysts, and even hot air balloons to compile a
vast amount of intelligence about Lee’s army. He had discerned that Lee had only 61,000 men to
Hooker’s own 134,000. Buoyed by his superior numbers, Hooker covertly moved 70,000 of his
men fifteen miles up and across the river, and then ordered them to sneak back down to position
themselves behind Lee’s army. Satisfied with his advantage, Hooker was convinced that Lee’s
only option was to retreat to Richmond. Yet despite his disadvantages of both nhumbers and
position, Lee did not retreat.

What would be the synonym for propensity?
1. Conviction

2. Proclivity

3. Repugnance

4, Abhorrence

Correct Answer :-

e Proclivity

5) Read the passage below and answer the question that follows:

Everyone has a favorite attraction at an amusement park. However, unlike most people who
seem to prefer roller-coasters, my favorite ride is a little more gentle. It is the Ferris wheel. The
Ferris wheel is simple and yet quite complex. That is, riding it is easy, but how it works is
complicated. A series of carts are attached to a wheel, which is attached to a rim. That rim
rotates vertically around an axis, and gravity keeps the carts upright. As simple as the ride
seems, only advanced engineers can make safe and fun Ferris wheels. While the Ferris wheel is
not as thrilling as a rollercoaster, it is still very exciting. The fact of being high in the air makes it
so much more entertaining than a lot of rides. I mean, how often do you hang from that high up
in daily life? Nevertheless, I don't seek Ferris wheels out because of their excitement. Rather, I
find them very relaxing. At the top of the Ferris wheel, you get beautiful sights of the park. You
also get a sense of calm that you don't get in the hustle and bustle of the park below.
Additionally, Ferris wheels are also gorgeous to look at when they are lit up at night.

Pick a word from the options given below to indicate a synonym for entertaining:
1. Boredom

2. Hilarity

3. Compelling

4, Amusement

Correct Answer :-

e Compelling



6) Read the sentence carefully and choose the option that has an error in it:
She is my cousin sister.

1. No error

2. She

3. cousin sister.

4. is my

Correct Answer :-

e cousin sister.

7) Report the following statement.

My mother said to me, "You are not hard working."
1. My mother told me that I was not hard working.

2. My mother told me that you are not hard working.

3. My mother told me that I am not hard working.

4. My mother’s told me that you were not hard working.

Correct Answer :-

« My mother told me that I was not hard working.

8) Fill in the blank with the correct option in the given sentence:
When a doctor is convicted of --practice, he could be imprisoned.

1. mal --

2.im --

3. dis--

4. non --

Correct Answer :-

e mal --

9) Fill in the blank with the correct option in the given sentence:

There were many music-- who attended the ceremony with eminent scient --.
1. --s ... —-ifically

2. --ians ... --ists



3. —-ian...--ist

4, --als ... -—-ific

Correct Answer :-

e --jans ... --ists

10) Read the passage below and answer the question that follows:

Everyone has a favorite attraction at an amusement park. However, unlike most people who
seem to prefer roller-coasters, my favorite ride is a little more gentle. It is the Ferris wheel. The
Ferris wheel is simple and yet quite complex. That is, riding it is easy, but how it works is
complicated. A series of carts are attached to a wheel, which is attached to a rim. That rim
rotates vertically around an axis, and gravity keeps the carts upright. As simple as the ride
seems, only advanced engineers can make safe and fun Ferris wheels. While the Ferris wheel is
not as thrilling as a rollercoaster, it is still very exciting. The fact of being high in the air makes it
so much more entertaining than a lot of rides. I mean, how often do you hang from that high up
in daily life? Nevertheless, I don‘t seek Ferris wheels out because of their excitement. Rather, 1
find them very relaxing. At the top of the Ferris wheel, you get beautiful sights of the park. You
also get a sense of calm that you don't get in the hustle and bustle of the park below.
Additionally, Ferris wheels are also gorgeous to look at when they are lit up at night.

Why did the author prefer the Ferris wheel to a roller-coaster?
1. Many people could ride on it.

2. It was gentle.

3. It was very fast.

4, It was meant for little children.

Correct Answer :-

» [t was gentle.

11) Read the passage below and answer the question that follows:

Everyone has a favorite attraction at an amusement park. However, unlike most people who
seem to prefer roller-coasters, my favorite ride is a little more gentle. It is the Ferris wheel. The
Ferris wheel is simple and yet quite complex. That is, riding it is easy, but how it works is
complicated. A series of carts are attached to a wheel, which is attached to a rim. That rim
rotates vertically around an axis, and gravity keeps the carts upright. As simple as the ride
seems, only advanced engineers can make safe and fun Ferris wheels. While the Ferris wheel is
not as thrilling as a rollercoaster, it is still very exciting. The fact of being high in the air makes it
so much more entertaining than a lot of rides. I mean, how often do you hang from that high up
in daily life? Nevertheless, I don't seek Ferris wheels out because of their excitement. Rather, I
find them very relaxing. At the top of the Ferris wheel, you get beautiful sights of the park. You
also get a sense of calm that you don’t get in the hustle and bustle of the park below.
Additionally, Ferris wheels are also gorgeous to look at when they are lit up at night.

Why did the author find it entertaining to ride on the Ferris Wheel?

1. At the top of the Ferris Wheel, he could see the attractive place of interest around the park.



2. When he was going round and round, he saw the people nearby in a blur and that excited him.
3. He loved riding round and round in the Ferris Wheel till he became dizzy.

4. There was nothing more thrilling or exciting that riding on a Ferris Wheel.

Correct Answer :-
» At the top of the Ferris Wheel, he could see the attractive place of interest around the park.
12) Read the passage below and answer the question that follows:

Everyone has a favorite attraction at an amusement park. However, unlike most people who
seem to prefer roller-coasters, my favorite ride is a little more gentle. It is the Ferris wheel. The
Ferris wheel is simple and yet quite complex. That is, riding it is easy, but how it works is
complicated. A series of carts are attached to a wheel, which is attached to a rim. That rim
rotates vertically around an axis, and gravity keeps the carts upright. As simple as the ride
seems, only advanced engineers can make safe and fun Ferris wheels. While the Ferris wheel is
not as thrilling as a rollercoaster, it is still very exciting. The fact of being high in the air makes it
so much more entertaining than a lot of rides. I mean, how often do you hang from that high up
in daily life? Nevertheless, I don’t seek Ferris wheels out because of their excitement. Rather, 1
find them very relaxing. At the top of the Ferris wheel, you get beautiful sights of the park. You
also get a sense of calm that you don’t get in the hustle and bustle of the park below.
Additionally, Ferris wheels are also gorgeous to look at when they are lit up at night.

How are the carts kept vertical on the Ferris Wheel?
1. A man has to hold on to it to keep it vertical.

2. Gravity keeps the carts upright.

3. It rotates around an axis.

4. There is a machine that keeps it erect.

Correct Answer :-

» Gravity keeps the carts upright.

13) Choose the appropriate tense to fill in the blank in the given sentence:
Recently, scientists a new element in chemistry.

1. will discover

2. discovered

3. have been discovering

4. have discovered

Correct Answer :-

« have discovered



14) Choose the appropriate determiner to fill in the blank in the given sentence:
Siva spends ______ of his time on photography tours.

1. little

2. few

3. many

4, most

Correct Answer :-

15) Rewrite the following changing the passive sentence to active.
The rust was removed by acid treatment.

1. Acid treatment removes rust.

2. Acid treatment removes the rust.

3. Acid treatment removed the rust.

4. The rust were removed by acid-treatment.

Correct Answer :-
e Acid treatment removed the rust.

16) Choose the right tag:

~

Neither of the workers was happy with the new rules & regulations,
1. were they

2. wasn’t they

3. weren’t they

4. did they

Correct Answer :-

e were they

17) Choose the right tag:

Hemingway has written short stories as well as novels, ?
1.isn't he

2. hasn't he

3. didn't he



4, doesn't he

Correct Answer :-

» hasn't he

18) Choose the option that substitutes the given phrase appropriately.
A keeper or custodian of a museum

1. Supervisor

2. Administrator

3. Ranger

4, Curator

Correct Answer :-

e Curator

19) Choose the appropriate prepositions for the given sentence:

Every year _____ the United States, accidents claim the lives ____ thousands ______ people.
1l.in..of ... of

2.in ... by ... for

3. through ... in ... of

4, for ... in ... of

Correct Answer :-

20) Choose the appropriate antonym for the highlighted word in the given sentence.
Our body absorbs nutrients from food as it goes through the intestines.

1. spurns

2. endures

3. accepts

4. allows

Correct Answer :-

* spurns



21) Choose the appropriate conjunctions for the given sentence.

This cookie is not good, it contains chocolate chips ____ nuts.
1. whether ...or

2. neither ...nor

3. as many ... as

4, either ... or

Correct Answer :-
e neither ...nor

22) Choose the appropriate option that rewrites the given sentence in its passive voice.
Sachin hit a century in the final match.

1. Sachin was hitting a century in the final match.

2. A century was hit by Sachin in final match.

3. In the final match, a century was hit by Sachin.

4. In the final match, a century was hit.

Correct Answer :-
 In the final match, a century was hit by Sachin.

23) Choose the appropriate tense to fill in the blank in the given sentence:
By 2100, the world’s population to around 30,000 million.

1. will increase

2. will be increasing

3. will have increased

4, was increased

Correct Answer :-
o will have increased

24) Choose the appropriate synonym for the highlighted word in the given sentence.
Our life span is restricted.

1. limited

2. without any limit

3. full of control



4. cramped

Correct Answer :-

* limited

25) Choose appropriate articles for the given sentence:

When ____ student finishes college, he/she receives ____ bachelor’s degree.
1. no article required ... a

2.a..a

3. the ... no article required

4. the ... the

Correct Answer :-

26) Choose appropriate article for the given sentence:
Mr. Tony became Principal of the college in 1998.
1. no article

2.a

3. an

4, the

Correct Answer :-

e no article

27) Choose an appropriate modal for the given sentence:
We respect our elders.

1. can

2. may

3. might

4. ought to

Correct Answer :-

e oughtto

28) Choose the most suitable pronoun for the given sentence:



The children read the book but remembers the title.
1. something

2. someone

3. no one

4. everyone

Correct Answer :-

* NO Oone

29) Choose the option that best explains the highlighted expression:
The fact that today is her birthday slipped my mind.

1. my words slipped

2. used wrong words

3. forgot about it

4. forgot to choose the right words

Correct Answer :-

» forgot about it

30) Which of the following options best combines the given sentences?
Harry is very old. He is an unhappy man.

1. Harry is so old and unhappy man.

2. Harry is a unhappy old man.

3. Harry is a very old and unhappy man.

4. Harry is a old and a unhappy man.

Correct Answer :-
e Harryis a very old and unhappy man.

Topic:- General Hindi(L2GH)
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Correct Answer :-
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5) g¢ Tud A 3 TP YR B,
"I a1g i i -

el Jrpers @ $ie gl frar 33,
AT AT AT U1 IR 4R &
AY Y §§ §9-39 $ R F|
feferst srerdt e ST gwa,
‘&1 BRI TS G T3 3d HIH DI,
1Y geT IR-3R Feq & 31y e |
AY 3TT TS §9-39 & YaX &

ST UL B UgH 1 YD 7T UY HT 36 Jargd:
- gIfA &1 yataardt Far =8 82
1. T

2. faeredt

3. dYcdl

4. ¢Hb I

Correct Answer :-
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3. AT

4. S
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. 3fiareH
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- B3
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4. dloa =
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. dua A

18) §¢ Tiudl 7 M ggH AR B,

T TG Gl i -

qielht srparTs @ar 3ite gt frar 1,

BTN AT AT 9T IRTd WR P |

AY 3T 93 §9-69 F AR & |

férferst srerdt e It qHa,

&1 PR} TS G TS 3 URH DI,

1Y geT IR-3R e & 31y &b |

AY 3ATT TS §-349 S AR P |

ST U B! UgHh -1 I T UY T 37 Ja133:
WA- &fHT B 6 G T3 3T WA P, Ufed & T1ie Ga T3 &7 Hiard 8-
1. g4 Hfdd g

2. TS I

3. T §¢ ST

4. 79 &1 A R BT

Correct Answer :-

. TAHIATREA

19) B ATHTR BT qUI HXd §, J2dl BT qUIH Hd &, TATRT BT JuIH B 81 WR Bras b1 gui- wft fadt
A forar @2 s A W STAAT BIS Wig T Hd1, Fras A IRR 11 g1 §, FUS AA 8 91 81 30 /R
R Fas I3, g A 3 ot arss1 78 @vran ik S:Aifeie Fas & forw fandt Y wergyfa =8 8t ag 9
gurdf ¢ | fbeg dewydr @ 91 | g7 3@ b Fias # $o o1 il 781 21 ugd 1 ug & Pias &1 71 954
TR 21 THD] & Tl W), W I Sarel W SYyar IR W P SAdt SUs| & 1T g6 99 Fhas & 9|
HE PR & | ST ANl Bt Yl # ypTe 5T At & g+t & fore gt 31 959 wig 81 wie dd g i afy
ITH BT BT THTY SIB BT AT 3T 9 ) I IS F8 B A7 T GI-G 81 91 8 1 W &), Pheas a1
1 dd 8t 99 frs S 81

ST TR B Ugh -9 U T Uy BT ITR ga153:

WY - {5 o T IeE BT A R A1 B 82
1. 3THH Dl

2. SR BT

3. PHdS Bl



4. YR BT

Correct Answer :-

20) T THIR BT JuIH B 8, ot BT quiH R §, TR FT 90 $3d § 1 R Bas &1 gui Haff feht
A forar @2 Fias A W STAAT BIS Wig T a1, Pras A IRR 1T G141 8, FUS A 8 91 81 30 /R
R Biae I3, T8 et 31 1t srss1 78 rar ok AT Fras  Rie e &) Teryfe 78 a1 we we
gyrdf B | foreg Ty A TR ) g1 3@ o Pias W $o $H Ai<d 78l &1 Uga o U8 fb Pias o1 31 954
TR ¢ TEIPI & T W, ER) B ATl IR 3Ual TR W F P $US! & Y g0 9 P F o 1
HE P & | ST @l Bt Yl # yhTe g At & g & fore gl 31 959 wig 21 Wil dd gy W afy
I BIIS BT THTY SIHY BT 7T 3T JA d) I IS B8 B a7 A GI-G 81 914 8 1 W &, PraIs b7
1 a9 frs S 21

IUY TR P UHR -1 Y 7T UY HT 3= 9134

WA - PIs A 11T 61 ghaT 82

1. TRR

2. AHTHT

3, UG
4. ;R

Correct Answer :-

21) T SATHT BT qUN Hd §, Gt BT 9ol Hed §, Te=ral &1 9ol $d 81 R Pras &1 quie bt fpeht
A foar 32 Pas A W STaAT D13 Wi 781 ST, BIUs A IRR <1 a1 7, PUS AA 81 o1 &1 30 IR
R Fas I3, g A 3 ot ares1 78 @vran iR S:Aifee wius & forw fosdlt Y wergyfa =8 8t ag 99
gty g | fbeg dewyar @ 91 | g0 3@ b Fias A $o o1 il 781 21 ugd a1 ug & Pias &1 71 954
TR 21 THD] & Tl W), W I STl W Syar IR W) P HAdt SUs| & 1T g7 99 Fhas & 9| 3
THE PR & | STy @l Bt Yl # ypTe g At & g+t & fore gl 31 959 wig 81 wie dd g i afy
I BT BT THTY SIB BT AT 3T 9 d) I IS Hg B A7 T GG 81 91 8 1 W &), Phaas a1
A9 A 8 T9 fars Srar 81

IT TR B UGHR 1 I T U BT SR qa1sd:

R - B’ P qaiaar &1 82

1. Had AT

2. Hdd g

3. had e

4, IRIad g+t

Correct Answer :-

o JWRIad gt



22) TH 3TPHT BT U Hd 3, Y2t BT GUIH PHd 8, STATA] DT U Hd 8 | R HIds HT1 9ui- HHi fadt
A far @2 Fras A W S1aT1 HIE Wig 6 Bdl, Fras § IR 71 §iT 8, FUS A 8 9 &1 309 IWR
R DTS 33, g fadl &1 ot arsa1 81 e 8k sfifere Fas & fore faeht & gergyfa 7€) 81t s O
gurdf § | fg dewyar A W o g0 3@ fF Frus & $o o0 died 71 21 Ugd 1 T8 & Fas &1 @1 9ga
TR 21 T! & Tl R, R P aral W 3Hual IWR R F Bl PUS| & 7T g0 99 P & o T
TR B & | STy @l B HEl # ypTe T g & ad=) & fore o) 31 9gd uwie &1 ®iel od wHy R iy
I BT BT THTY SIHY BT 7T 3T F d) I I H8 B A7 a1 GI-G 81 91 8 1 W &), Fhaas a1
A9 od g 99 fonrs wirar 21

IUY T T B UGHR A9 YD T U BT SO gaT5d:
WA — ARy &1 3 1 82

1. 741

2. RAT

3. didld

4. Pl

Correct Answer :-

23) T MTHIR HT Jui B g, Yt BT quiH R &, Tam=rl &1 qui 3 81 R Pas &1 gui waff feeh
3 forar 32 Fius A W AT FIE e 81 ST, BIUS A IRR 71 8141 €, PUS A 81 oI 81 3 IR
R Pras 32, 8 el oY ot area1 78 wrar ik Tefifere Fras ¥ Riw frdt &) wergyfa 78 @ T ww
gurdf § | fpeg dewyar A W o g0 3@ P Frus & $o o0 died 71 21 Ugd a1 T8 & Fas &1 @1 9g4
TR 21 [! & Tl R, R P faral W 3Hal IWR R F S PUS| &b 1T g0 99 Fas & o T
TR B & | STy @l 1 HEL # UopTe T g & ad=) & fore o) 31 9gd uwie &1 ®iel od wHy iy
ITH BITS BT THTY SIHY BT I 3T A d S/ aTHI B H fI3 a1 G- 81 o1 8 1 WR &Y, Bas &1
9 A4 ) 9 fars T g

ITYaR TR B USHR ) UD T Uy o1 IR Ja1sd:
T=A- Y T &1 EE TG 2

1. HIIS DI HEA

2. PIas 4 UH

3. HIIS BT Bl

4. PIIS B ey

Correct Answer :-

. DS BT HA

24) T THTR HT Jui B 8, ot BT gl R §, FTa=ml &1 quie $3d 81 R Bas &1 gui it feeh
3 a1 82 Pus A W STAT BT S T8] Hedl, BIus A IR =< 4T 8, $US A 8 o &1 39 IR
R Piae I3, T8 et 31 9t srss1 78 rar ok AT Fras & Rie e &) Tyl 8 f s we
gyrd | fpg Tewar & A ) 9 3@ F s A $° o4 died 78 &1 Ted ! 7 f Fius 1 {1 9gd
FoX g1 Tl & Tl R, TR @1 fiarel UR 3y IRR W & B US| & T 56 9 Fas F 9| @
THg FRd & | HATTUF ANl Bt Y H yhTe gT gt & g+ & fore 9t 31 959 Wi 81 wiel ad 9wy it afe



IGH PIIS BT THTY SbY BT I 31 &1 ) I G e B Ay a1 GI-GY &1 91d &1 W o, Fras a1
A9 A 8 T favrs ST 81

ST TR B UG 19 YD T Uy BT 3TR gaT33:
- BT DI AN 1 T8 IRig Hd 82

1. TP Prag A Rk gl et B

2. FifF Brag § Rk Fie gid 5|

3. Fif Blas Rk T<1 g1 gl

4. SIS it

Correct Answer :-

o SWRIad Tt

25) B SATHTR HT qUH Hd §, Judt BT 9ol Hed §, A=l &1 9ol $3d 81 IR Pias &1 quie bt fpeht
3 1 &2 Pras A W ST IS TR T8 Hea, Pras § TR 151 €41 8, HUS A 8 o1 &1 30 WK
R P 33, 98 it o1 off et 78 @vrar ok sefifere #as & g fansht &t wergyfe =&t <t ag @w
gurdf g | fbeg dewyar @ 919 | g0 3@ b Fias # $o o0 il 781 21 ugd ) ug & Pias &1 71 954
TR 21 THD] & Tl W), W P Tl W SYyar IR W F HAdt SUs| & 1T g6 99 Fias & 9| 3
THE PR & | ST ANl Bt Yl # ypTe g At & g+t & fore gt 31 959 wig 81 wiel dd gy it afy
ITH BT BT THTY SIB BT AT 3T 9 A I IS H8 B A7 T GG 81 91 8 1 W &), Phaas b1
1 9 8t 99 frs S 21

ST T B Ugh? -9 U T Uy BT ITR gaT33:

WA - U BT 3 7 gian & Ford e o v foran man 82
L. PIIS

2. Ulahe

3. U9t

4. U9

Correct Answer :-

26) TH THIR BT JUMH HId 8, et BT JUIH R §, STATRIAT BT qUH HYd § 1 R Bag BT qui- Bt foedt
3 forar 82 Pas A W STAT BIg Wig 6! BT, Pas | IR 71 8T 8, FUS A 8 91 &1 307 IR
R DS 33, g fhdl &1 ot 3rsa1 781 e ok sfifere Fas & fore faeht & wergyfa 78 81t s O
gyt § | feg dewyar @ W o g0 3@ fF Frus & 3o o0 died 7 81 Ugd 1 78 & Fas &1 @1 9g4
TR 21 T! & Tl R, R P aral W 3Har IWR R F Bl PUS| & 7T g0 99 P & o T
TRiG B & | Hartuy @ 1 HEt H ypTe g g & ad+l & fore adt 1 9ga ue 81 Wiel ad 9wy W afy
I BIIS BT THTY SIBY BT AT 3T 9 d) I I H8 B a7 a1 G- 81 91 8 1 W &), Fhaas a1
M A € W9 fars ST |

IUY T T B UGH A9 YD T U BT SO gaT5d:
UL - qrel &1 YaRT $Ei gar g ?



1. Sl b axd

2. fifqet & & o
3. faym & & d
4. 0T & &7 o

Correct Answer :-

. HATH ATH

27) §H THIR BT JUMH B 8, et BT qUIH R §, STATRIAT BT qUM HXd § | W Bag BT qui Bt foedt
3 forar 32 Pas W W STAT BIs Wig 6! BT, Pas | IR 71 g1 8, FUS A 81 91 &1 307 IR
R DS 33, T8 frdl &1 ot arsa1 81 e ok sfifere Fas & fore faeht & gergyfa 7Y 81t s O
gurdf § | fpeg dewyar @ W o g0 3@ fF Frus & $o o0 died 71 21 Ugd 1 T8 & Fas &1 @1 9g4
TR 81 [! & Tl R, TR P faral W 3Har IWR R F B PUS| & 1T g6 99 Fas & o T
TG B & | STy @l 1 HEL # yopTe T g & ad=) & fore o) 1 9gd uwie 81 Wie) od wHy Ry
I BIIS BT THTY SIBY BT 7T 3T F A I I H8 B A7 T GI-G 81 91 8 1 W &), Fheas &1
M A € 99 s S

IR TR B USHR 1 UD T Uy o1 I<R Ta13d:
A - P @1 fadw w g2

1. 949

2. SR

3.9g9
4, I

Correct Answer :-

28) TH SMTHTR HT Jui B g, Yt BT quiH TR §, Tl &1 quie $3d 81 R Bas &1 qui waff fpeh
3 a1 82 Pus A W STAT BT S T8] Hedl, BIas A IR =< i1 8, $US A 8 o &1 304 IR
R Piae I3, T8 et 31 9t srss1 98 rar ok AR Fras & e e &) Tyl 8 f we we
gyrdf B | foreg Ty A TR ) g0 3@ f Pius W $o $H Aied T8 ¢ 1 Ugd o Ug f Pias &1 &1 9gd
G ¢ QDI &b T W, R) B ATl WY 3Yar TR W F P $US) b ¢ g 9 P F 9 1
THg FRd & | HATTUF ANl Bt Yl H yhTe gT gt & g+ & fore 9t 31 959 Wi 81 wiel ad gy it afe
IR PIIS BT THTY SIHY BT I 3T 91 d I/ aTH Fe H I3 a1 G- 81 1 81 WR &Y, B &1
AT A € 9 fairs Srar g1

IR TR Y UgHR - UD T U o1 I<R Ja1sd:
o= - gyTdf 31 faeia wsg 81

1. 3T

2. Hifas®

3. 9

4. Hid



Correct Answer :-

29) U ATHT HT qUN Hd §, Gt BT qui Hed §, Tem=ral &1 9ol Hd 8| R Pias &1 quie bt feeht
3 a1 &2 Pras A W ST B TR T8 S, Pras & TR 151 €41 8, HUS A 8 o1 &1 30 WK
R Pas I3, g A 3 ot ares1 78 @vrar ik S:Aifee Fus & forw fansdt Y wergyfa =8 8t ag 99
gyTdf | fpg dewyar I W A 59 &N ¥ Fius A oo o4 Hied 8t 81 Ugd a1 98 fr Fius w13 9gq
T} T TEIP! & T W, TR) Bt ATl IR 3yar TR W F P $US) & Y g 9 P F o 1
THE PR & | ST ANl Bt Yl # yhTe 3¢ At & g+ & fore gt 31 959 wig 81 wie dd gy it afy
I FHTS BT THTY SIHR BT AT TR dt A I $8 R fag a1 G- 8 91d &1 R &Y, Bas a1
1 A 8 9 s W B

ST T B Ugh? -9 U T Uy BT ITR gaT3d:
T - BIaS | F1-91 MR g1 A1 2

1. BT, e, el ), MeR, art

2. ST AP TGN

3. W, STg, STe, W

4. HIQT Yafl, T, TS UMY, HIoH

Correct Answer :-

30) §H IATHIRN HT JUF B &, 2t BT JUIH B 3, STATRTT HT qUN HRd § | W BIag BT qui Bt fopedt
3 {1 82 Pius A W STaAT B3 Wi 781 HIdT, BITs A IRR T a1 8, PUS AA g1 o1 &1 310 IR
R PAS I3, g A 3t ot eres1 78) @vra ik S:AfRe Fus & fore fadt Y wergyfa =8t 8t g wa
gyrdf B | foreg T A TR o) g0 3@ P Pius W $o FH Aied T8 ¢ 1 Ugd o Ug fb Pies &1 31 954
T 81 THIS] & TNl R, BRI $1 a6l W 3Yal IR/R W S 1A FUS| & T g 99 Flus & o O
THS BYd &1 STty all &1 HEt 7 gopTe gu frd) & adf+i & fore a€t 1 989 Wie 81 wie ad gwa ot afe
I BIIS BT THTY SIBY BT 7T 3T 9 A I I H8 B A7 T G- 81 91 8 1 W &), Fhars &1
A1 A 8 99 frs W}

IUYa TRIIRT B UGHR -9 U 7T UY HT IR 9a133:

TR - St BT I A R AT B 2

1. BB BT

2. 3P B BT
3. TSt 1 3

4, YSI BT

Correct Answer :-

Topic:- Science (SCI)



1) A teacher demonstrates an experiment to verify Newton’s law in class. He
then asks students for simple examples that prove the same law. Which ability

is he trying to develop? / WQT&W a&nﬁw%ﬁuﬁraﬁwﬁaaﬂﬁ
& fore v vt uelRia &=dar g1 98 fFe o 9 IRd Ieeun & fore sgar
T oIl 99 faw aifad &4 gf | 98 59 &mdr &) fasfRid o312 3t SilRm

B [T 7?2
1. Acceptation or rejection of the hypothesis UG Bt m g1 &W Pl
2. Flexible and divergent thinking / Tl 3R fafie fifam &

3. Express the task in terms of goals ) A&l & T H B B oaad B DY

4. Correlation between various phenomena / CIRERMSIEIEICIE] ERNELK]

Correct Answer :-

« Correlation between various phenomena / fafys gearsfi & o9 Jegde] &t

2) Just as multi-flow map is used for cause and effect, a bridge-map is used for
analogies and comparisons. What is its significance? / forg e Hed -0l AY BT
SUANT, BRI 3R GUTT & fore fomam <ivan 3, 3t v ue faw-Au &1
SUENT, =i 3R gerrsii & R frar Simar 8 | s9®T Hew w1 8?2

1. Effective method in teaching science /ﬁWﬁT&I’UTﬁUlﬂﬁWI
2. Creates a playful mood / M A e 91T 8|

3. Improves quiz abilities/ TSR Wﬁﬁﬁﬂﬁm%l

4. Improves comprehension power/mﬁﬁmgl

Correct Answer :-

. Effective method in teaching science / fam= Rreror / gumat dieet|

3) A current carrying conductor is placed normal to a uniform magnetic field. Keeping the
direction of the magnetic field same, the current through the conductor is reversed. What do
you observe? /

fagyd ae® GuTa® ®! TH UM I & H I U A 7@T 16l 8| gaP1g &
ggﬁwm@,w%mmﬁﬁmﬁmﬁmmélmw

1. The force acting on the conductor will be doubled. / =TT U oI XgT dcd G-l?!'_‘H RSIcIE



2. The force acting on the conductor becomes zero. /WWW@WQ@@W%I
3. The conductor will remain in the state of rest. /Wﬁw 3T T X |

4. The direction of motion of the conductor will be reversed. /Waﬁﬁ?ﬁf ERICARCI
fea Sar g

Correct Answer :-

+ The direction of motion of the conductor will be reversed. /Wﬁ‘ﬂ%{ﬁ ERICARCR
[RISIGIE]

4) What happens when two balloons rubbed with a woolen cloth are brought close to each
other? /

T AT 8 9 & TR TP Sl HUS I WSHY TP gk & BRI AT¢ olld 82
1. They repel each other./é@-@%aﬁmmgl
2. They attract each other. /3@-@%3% WW%I

3. They stick together. /é W—W I faus ?B?f %I

4. They neither repel nor attract each other. / § 71 g1 TH-gaR Pi 3R IHRd Bid § 3R 7 & 3
BId El

Correct Answer :-

« They repel each other./é@-@ﬁwm%l

5) What happens when a glass rod is rubbed with silk? /

T BT & o9 U Hid B! B8 I IMH T WST SITdT 87

1. Glass rod becomes negatively charged and silk becomes positively charged. /
AN TS BUTHS AR B ST § SR X YT SMTafRId 81 ol g |

2. Both glass rod and silk become negatively charged. /
T S SR XM I BUTEHSD AR 81 &Il § |

3. Glass rod becomes positively charged and silk becomes negatively charged. /
TN IS YD SR B SNl & SR WM FHUS AR g 1t 3

4. Both glass rod and silk become positively charged. /

AN S 3R IYH SFl YIS AR B 91 &

Correct Answer :-

» Glass rod becomes positively charged and silk becomes negatively charged. /

T IS YTHD TR BT Sl & 3R IWH FBUIHD ARG g1 Sirar g




6) A fine powder is sprinkled on the carom board because it ./

TP HE I UTSSI B 3 IS W g1 ot 8 Fifd a8

1. increases the friction /‘EI'EfUTﬁEIETaTﬂ%I

2. Reduces the friction / THUT 1 HH PR &l g |

3. gives correct direction to the striker/WﬁwmaﬂT%I
4. reduces the effect of gravity / TR~ & JHTd I HH HR odT 5|

Correct Answer :-

» Reduces the friction /Hﬁwﬁwmémél

7) How many naturally occurring amino acids are there? /

WIH AP FU H IUF 3l a1a TN ot fhaq UpR F gid 82

1.22
2.16
3.20

4. 18

Correct Answer :-

« 20

8) If a beam of white light falls on a plane mirror at an angle of incidence 30°, then the angle of
reflection for the red color is: /

I Athe YHT P Teb fHRU1 30° & SMTUA BT UR TP JAHTA SUUT TR USdl §, d A1

1. 30°
2. 15°
3. Greater than 30° / 30° ¥ 3{fd®

4. Less than 30° / 30° ¥ &H

Correct Answer :-



Sambu lives in a slum, drinking water usually gets contaminated. He is prone to get diseases
like .

g TP FUSUS! # IgdT 7, el T &7 U+ "= gita gt st 81 39 ot
driai g9 ot yauran@E) B

1. tuberculosis / &‘W
2. measles / W
3. chicken pox/m

4. typhoid and cholera / CIEHTSS 3R HIGR]

Correct Answer :-

« typhoid and cholera / CTSHISS 3R BICRT

10) An object of 3 cm height is placed at a distance of 15 cm from a convex lens of focal length
10 cm. What is the size of the image obtained? /

TS 3 Y HaTs aTel avg 1 10 AHie Biovd aiaTg a1 TP 39d a9 I 15 T
R TR 3T 1T 8 | UT B BT PR T 82

1.2.5cm/2.5 94t
2.6cm/ 6 Tl
3.3cm/3 Tl
4.9 cm /9 !

Correct Answer :-

. 6cm/6@'5ﬁ

11) Which of the following statements is true regarding sound?/
Fufafed § & oH-91 sy @ & ded A g 72
1. Sound is a mechanical wave which needs a material medium for its propagation./
A U ie a1 3, o 59 TR & farw ues i Ared &t sirazadsar gl 3|
2. Sound is a mechanical wave which doesn’t need a material medium for its propagation./
G U iAE a7 7, o 399 TR & o 1iifdes Az Y srraxaesd 18t gl B
3. Sound is a mechanical wave, so it can even pass through vacuum./

¢ T FifFes a1 8, 39fert Ig fRatd & Arend T +f 3R IR o Jobdll B

4. Sound is a transverse wave. / {3 U@ VY T B



Correct Answer :-

» Sound is a mechanical wave which needs a material medium for its propagation./

tgf7 U Ui a1 3, O 59% U9R & forw U Hifdes HIenH ot Sawdehdl gidl g

12) Which of the following can be used to make the inverted image erect? /

Il ufafars & Wt w1 & forg fFafafaa & @ f5a &1 Iuah fear s aoar g2
1. Concave lens / 3{dad o

2. Plane mirror / FHA GUUT

3. Convex mirror / 3Xd GUUT

4. Convex lens / 30 0

Correct Answer :-

« Convex lens /B?Iﬁﬁﬂ

13) The amount of light entering the human eye is controlled by: /

TG AT | Y= HA a1el AT S AT 39 gR1 i gl @:
1. Iris / TRATRDT

2. Cornea / BIT=l

3. Pupil / adt

4. Retina / XfeT

Correct Answer :-

. Iris/tlﬁ_clTﬂW

14) Why are large poultry farms constructed? /

IS pape/H BrHT o1 frmtor w41 far ST 82

1. To raise broilers for chicken meat in large numbers. /
ferep1 | o fory 9t T H siiger de™ & fory|

2. All the above facts. /

Sugad gt 7|

3. To develop very good hatchery for egg layers, in large numbers. /

Jo! Y- H 3fS &I Ud| & [oTT Igd 3BT TP ARl [dehiid B o felg|



4. There is low maintenance requirement for developing poultry. /

FIpUIeH & [AHT & T HH IWRWE $I Al gl &

Correct Answer :-

« All the above facts. /

STfad It a|

15) If a grass hopper is eaten by a frog, then the energy transfer is from /

gfe T feg &l Hed @I aAar 3, @ 3T SHoit ITHIART i 8-

1. Producers to decomposers. /IATGH] I Tgch| |

2. Producers to primary consumers. TG YT uteafi o

3. Secondary consumers to primary consumers. fedtae IuHtaars I e Iuyiadsi @
4, Primary consumers to secondary consumers. / YT ITHIASH I fgdiad SaHiade &

Correct Answer :-

 Primary consumers to secondary consumers. / Tl IuHiadrsdl ¥ fgdias Iudiadrsii o

16) Tincture of iodine is made by dissolving /

IMAISH o1 A= e & & fPd gier - 9+ ire &:

1. Todine and sodium chloride / 3T 3R feTH FIRZS

2. lodine and potassium iodide in ethanol / ‘s'?ﬁT?«r H e G?R Ry 31@3133
3. lodine and glycerol / TS 3R forRTd

4. Todine and water / 3TAISIT 3R T

Correct Answer :-

« lodine and potassium iodide in ethanol / 3a:|y|?[ T IS 3R greflRry 31@3133

17) Find the incorrect statement /

TAad $YA Jd DIfole

1. Butter is separated by churning /

R HY= gRT 3T fhdT ST %l

2. Components of a mixture change their properties when mixed. /=

TS 0 & 3iggd o FAfed fohd S €, < 3o 10T &) 9gard g |



3. A pure substance has a fixed melting and boiling point /
T Y Uard &1 U FAfEd e iR Hy-id g g
4. Milk is a mixture /

Y TH YU Bl

Correct Answer :-

« Components of a mixture change their properties when mixed. /=

TS 0 & 3iggq o fAfEd ford S €, < 3o o7 &) 9gard g |

18) Freezing point and boiling point of pure water at sea level are respectively: /
g% TR R Y5 od &I g7 3R Suie sa-Au e

1. 0°C and 100°C / 0°C 3fRR 100°C

2.37°C and 100°C / 37°C 3R 100°C

3. 4C and 100°C / 4°C 3R 100°C

4.100°C and 0°C / 100°C 3R 00C

Correct Answer :-

« 0°C and 100°C / 0°C 3R 100°C

19) Identify the displacement reaction which will not take place. /

o fawurg= srfufera it afed A8t gift, SH! ugd= S|
1. Copper metal dipped in FeSOy,q). / DR U FeSO4(aq) o gdl g3l gl

2. Tron metal dipped in CuSOyaq)- / e YT CuSO4(aq)- o e gal gl

3. Magnesium metal dipped in ZnSO4yq). / iRr U ZnSOy(aq)- | Sl g3l gl

4. Aluminium metal dipped in CuSO4(aq). / TeGHIAH UTg CuSO4(aq). H GO G &1

Correct Answer :-

» Copper metal dipped in FeSOy,q). / DR YTg FeSOy(aq) o garga &l

20) The dimensions of torque are: /
I & 3T &:

1. [MLT Y



2. [M2 L2T2

3. [ML?T?]

4. [ML2T2]
Correct Answer :-
« [ML?T?]

21) The process of depositing a layer of any desired metal on another material by means of
electricity is called: /

foorelt & arenw A foredt qifesa urg ot wra =it 3 IrRi W w11 #= 9 ufear &t
ST oITdT 8:

1. Electrification / ﬁaﬂ?ﬂw
2. Electrocution / [dggd g
3. Electroplating / ﬁ?ﬂﬂﬁcﬂ

4. Electrolysis / [aggd 3(uec

Correct Answer :-

« Electroplating / ﬁ?ﬁ?‘lﬁcﬁ

22) The Science Teacher brought a white solid (X)to the class and informed the students that
she had used it for cooking at home. When students touched the solid with wet fingers and
rubbed it between fingers. it felt soapy to touch. It also turned red litmus indicator paper
blue.Identify X./

o Rer® wem ° T e 319 (X) @1 Td S 3 gird far & 3 R w
TP & T sHST U fobar 411 o1a Bl A et Suferdl & a1y 39 3 3 wu=f
e Td Suferal & i & 39 W1ST, 9 3¢ 98 AT o1 o | S &1 foreuy Ja®
TR & W} e 391 ° 9ea f&am x & ugaH|

1. Common salt. / HIYRUT THD |
2. Sugar. / Eisil

3. Baking powder. / CIEIRIRERY
4, Maida powder. / el USSR

Correct Answer :-

« Baking powder. / dfdhTT UTSER |



23) A base among the following is: /
fFaffea A G e & 8:
1. CuO

2. C02
3. SO,

4, NOZ

Correct Answer :-

e CuO

24) Calculate the mass of MgSO4 which will contain the same number of molecules as
contained in 10.6 g of Na,COs.

[Atomic masses: Mg =24 u,S=32u,0=16u, H=1u,Na=23u,C=12 u]/

MgSO, & 3 SHHTT Bt TUHET $v, Forad fAfga srupseii #1 €=, Na,CO; & 10.6 ITH A
fAfea srupaif #t Jem & JuE gl

[URHATY] GHFHTT: Mg=24u,S=32u,0=16u, H=1u,Na=23u, C=12 u]
1.12¢/ 12 UM

2.10.6 g/ 10.6 TTH

3.120 g/ 120 TTH

4.0.1G/0.1G

Correct Answer :-

. 12g/129M

25) When 10g of sugar is added to 50ml of water taken in a beaker and mixed well what
change is seen in the volume of the solution formed? /

die & fore 1w 50 faehieie = A 919 10 99 Y ST 3 A fArard) St @ &t
fafifa faea= <1 aEm & a1 uRad= ¢@r sirar 82

1. Volume of solution decreases to 40ml. /
farere 1 smads 40 fircfiefier a% ge ST &
2. Volume of solution remains the same at 50 ml. /
farera o1 maas so firefiefier R guH A B

3. Volume of solution increases to 60 ml and then decreases to 40 ml. /



faeTg T 31aH 60 THeliclier ddb ¢ SiTan g 3R fh 40 freiiciier de e Sar g |

4. Volume of solution increases to 60 ml. /

faea= 1 3maa 60 fieficlier de 5¢ ST 8|

Correct Answer :-

o Volume of solution remains the same at 50 ml. /

faeta &1 3maaq 50 fiefielier R gaH |ar e

26) Why is it not possible to break the stream of water from an open tap by moving our
finger in between the running stream of water? /

It B YRT & S gHRT ST B g9 A A 7d 9 PR il 3 4R1 3 drear 9ya
I T8 82
1. It is because the speed of the moving stream of water is very high. /

e g e U ) TRier e @8 IR g oifi gl 21

2. It is because the size of water molecules is very small for our finger to pass in between them. /

ﬁms;%naﬁ%uﬁ%waﬁﬁ JTHR THART STl J Gl ok o (o7 9gd 51 BleT
GG

3. It is because the water molecules are held together by forces of attraction. /
DT HRUT TG § o T P 3M0] SHTHY0T 5 gRT TP G 4 79 8l B
4, It is because the stream of water experiences gravitational force of attraction. /

T Zufe i Ut Bt URT AT YT §d BT 3IHT BT |

Correct Answer :-

« It is because the water molecules are held together by forces of attraction. /

PHT HRU TS g fob T & 3(0] STHYUI 96 gRT U g F §Y g g |

27) Which among the following is a positively charged sol? /
frafafed # & w1 «Aree © § smafte ve faaa 32
1. Arsenic sulphide / &Ww

2. Clay / R+t firgh

3. Gelatine / fTQIcA

4. Aluminium hydroxide / Q?‘Tﬂﬁ'm:[ EE@A}I'WB@

Correct Answer :-



« Aluminium hydroxide / Q?’Eﬂﬁuﬂ E'I_si@j’aﬂ'l?gg

28) Which one of the following methods is used by you to control growth of weeds in
agricultural fields? /

PN &= A WRuaar! & faeg o1 e 31 & foe fRufefaa & 3 fea i1
SUANT 3TUSP gRT foaT SIrd1 82

1. Maintenance of hygiene / ¥da3dl ] XQAXWI]

2. Prophylactic treatment / IR SUAR

3. Intercropping and crop rotation / 'i;CQQbTm‘I 3R I Il

4, Genetically modified crops / &ﬂﬁam U Y IS el

Correct Answer :-

« Intercropping and crop rotation / 5c<q;TfCiq 3R I AUl

29) Which one of the organisms is likely to have maximum concentration of harmful
chemical DDT in the aquatic food chain consisting of King fisher, zoo plankton, fish, and
phytoplankton? /

fhfrRR, wiftrera®, aodt, Td ueUwas I 9+ STeia Wrel §adr § &9 9 TP silg
H g R® TafAe SEId 1 siftredd JigdT 11 $1 UG gifi?

1. Fish / H&ell

2. Phytoplankton / UTqU Widdh
3. King fisher / ICRUTEL

4, Zooplankton / IESCED

Correct Answer :-

« King fisher/ fhTTth IR

30) Which two of the planets mentioned below have CO, as the major component of their

atmosphere?

Earth, Venus, Mercury, Mars, Jupiter . /

2 R e &) wE) A A fPaS argHed S UHE UeP & FUH CO, B2
g, P, IY, I, el

1. Venus and Mars / R[sh 3R HTE

2. Venus and Mercury / R[sh 3R qY



3. Venus and Jupiter / gb 3R gg<did
4. Mercury and Mars / §Y 3R HTE

Correct Answer :-

+ Venus and Mars / J[sh 3R HTE

31) Which gas having an unpleasant smell is liberated when Ferrous sulphide is reacted with
dilute HzSO4? /

I B GeB15S D1 SfUhar 9 H,S0, ¥ 1Y HRI3 SlTdl 8 a9 T 7¢ Pt HIF-3t
A9 g gt 82

1.Cl,
2. SO,
3. SO;3
4. H,S
Correct Answer :-

. H,S

32) Two unequal resistances joined in parallel are connected to a cell. Which of the following
statements is true? /

Sl 3T Uiy IR U I oS € ok Ue 9d I waiford 81 Fafafaa & 3 «14-
T $YT 94 82

1. Potential drop is same in both. / faHa yda e H 99 % |

2. Potential drop is less in the smaller resistance. / Ble ufeRy # fava g9 w4 % I
3. Current is more in greater resistance. / a@ ufeRiy & 4RT 31 %I

4. Current is same in both. / YR Ea7ﬁ ke %’I

Correct Answer :-

« Potential drop is same in both. / fava ga= a1 | 99 %I

33) displaces zinc from ZnSOy solution. /

ZnS0, faea | i &1 fawmua srar g1

1. Copper / GIE]



2. Lead / G191
3. Tron / 3RIRA
4, Magnesium / Ry

Correct Answer :-

« Magnesium / REH

34) What test measures, through tasks, the ability to apply the skills and

knowledge learned? / DI HT U&7 ST & ATSHH ﬁ, P 3R I B
AR A DI &Har HaA I 7TUGT 82

1. Breadth test / Eﬁ?ﬂg UR1&T

2. Power test / Qfad URI&T

3. Speed test / 7Tl TRT&T

4. Performance test / TGRI TI&0T

Correct Answer :-

« Performance test / EIE’-‘I&T Ttefor

35) Learner-centered assessment process does not focus on: / fﬁr&mﬁ-%ﬁ‘cr
i ufssar W Higd TE gl 21

1. Assessment of learning / SETH BT i

2. Assessment for learning / T & ﬁﬂl 3{h

3. Learner’s individual performance / fRremeff 1 feara ue=

4. Learning the process and experience instead of learning the product / 3UlG &

ST Bt Fog UfehaT 3R SIHT BT AT

Correct Answer :-

. Assessment of learning / 3TRTH P ihad

36) Which of the following is a myth about science? / Frafafaa § 9 sa-ar
fa & IR ¥ ta frue 82

1. Science is perception/ IERIERIREGI %I



2. Scientific knowledge is absolute / IR IE FRU& 51
3. Science is dynamic and tentative / ﬁfﬂ:f IGEIN Gh? THTfad %I
4. Science and its benefits are universal / Irak'll'-l 3'?|T s%lab [NIE] Hﬁ% %I

Correct Answer :-

« Scientific knowledge is absolute / W M fRUgy %I

37) Which type of memory stores information relating to ourselves? / fou

T &) WY T A FaT AT T Bt 22
1. Autobiographical memory / STH®DYTHD F:jﬁ[

2. Episodic memory / PIRince Fﬂﬁ[

3. Biographical memory / EIERICE Fﬂﬁ[

4. Declarative memory / EINNIGED Fjﬁl

Correct Answer :-

« Autobiographical memory / WWW

38) Akash will reach his school in 15 minutes on his bicycle. If he rides his
bicycle with an average speed of 3m/s, then how far is the school from his
home? /

Tfe STPT 3Tt ATSIPa 3 Hiew / AP BT 3N fd | IATdT §, A I8 MU= ASfpd
H 15 fire ® 3= Y5 d U, 9@ SUd IR U W d fhas gR 82

1. 2700m/ 2700¥T0
2. 270m/ 270 Hio
3. 45m/ 45HTo

4. 450m/ 450 Hio

Correct Answer :-

. 2700m/ 2700Hto

39) What are the advantages of keeping an apiary? /

AYHfE=IAr @A & T ATY 7?2

1. Honey is widely used all over the world. /



TEe & Ja fagd S ud ¥ gFar A glar 8
2. Bee keeping is a low investment scheme. /

AYHRIT gTe T g o aier 8

3. Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for
medicinal purposes and will be an additional income generation for the agriculturist. /

g & TGN P 1Y B S I & forg oft Ayr g HyHRd! uraH $iY Ie 8§ 3R
FYE & forg sifafkad s ae §

4. Bee keeping does not need much investment and can be grown anywhere in the garden or

even on roof tops. /

TYHRIT ITe & o Sifdes < &t Srawaedr Tal & SR 9 S 1 ©d, Hel H fasiia
foraT o T 8

Correct Answer :-

» Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for
medicinal purposes and will be an additional income generation for the agriculturist. /

IS & TGN & 1Y g WY Igal o forg off weyHie 3 TyHRd! ureH Y IR § 3R
FYD o forg SfaRad s e §

41) “Assessment is both reflected and reflecting process”. In this statement, reflected and
reflecting words are used in reference to and respectively. /

i, aitaféd (Reaaes) v ufafdfaa &< (Rwafem) & ufkar =i 81" 59
FUYTH, m(m@s)mmm(mm)aﬁmwm
ST MR pucH A frarwmar 2l

1. student’s feedback, teacher’s feedback / BT Pi uﬁg@, fRr81 @l Elﬁl'g@
2. student’s performance, teacher’s performance / ST Pl QE'Q&L 218/ &1 UexA
3. teacher’s feedback, student’s feedback / TRI& @l uﬁgf@, EIEED] m




4. teacher’s performance, student’s performance / fR1&{b BT QE’-‘Z&L B BT UG

Correct Answer :-

. student’s performance, teacher’s performance / 913 Il Q?Qﬁ, 218/ &1 UM

42) What is the duration of kharif crops. /
TP A P 3afts T 82
1. June to October. /\_rﬁ“v:f Sfdga db

2. March to September. / J-Iltlrﬁ IR db
3. November to April. / Ta%R ¥ 310d d&

4. October to March. / 3fagaR ¥ A d&

Correct Answer :-

« June to October. / J[A ¥ 3fagaR ddb

43) The correct statement among the following is: /
Fadd st oy 3:

1. Dry ammonia has no effect on litmus paper / [t AT BT ey TR WR hig GHTd -Ta!
ysdl

2. Curd is basic in composition / Eé)f T | &R %
3. Solution of glucose in water is acidic / et | W CARCNRERCEIE) %

4. HCl is a weak acid / HCI Uh g‘cfa 3§

Correct Answer :-

« Dry ammonia has no effect on litmus paper / [t ST 1 foeig TR W ﬁ_sf PHICEH]

44) To bring a charge of 5C from infinity to a point in an electric field, 50 joule of work is
done. Find the potential at that point. /

% fagya &= | 3Fd | 5C T AT TS fdg a% a1 & g, 50 @ &1 v fovan
SiraT g1 39 fig iR fava gma &<

1. 250V
2. 25V

3.0.1v



4. 10V

Correct Answer :-

o 10V

45) Two forces are acting on a body such that the angle between the direction of
application of the forces is 60°. The minimum number of force needed to keep the body
at rest is:

3 96 Uo fIpTa W o1 o% 38 & 99 % 9@l & gy ot fa=m & i &1 H1u1 60 ©
21 o @1 farm R vEA & i smawae <Aqw 9@ 99 3:

1. Only one force/wwaﬂ

2. Two forces / &l §d

3. No additional force is required /ﬁs‘ 3ffaRad 9 Wﬁ%l
4. Three forces /T‘ﬂ:[ dd

Correct Answer :-

e Only one force/aﬁlﬁwaﬁ

46) Amplitude of vibration of body is the deciding factor of :
| o1 & $UA & SraTH BT Fuiae SRS §:

1. The quality of sound produced / Idfad @i+ ot 0Tdcdl

2. The intensity of the sound produced / Idrfad @i & digdm

3. The period of vibration / U DI 3fafd

4. The frequency of sound produced / I@Ifed @i &1 3Tgfi

Correct Answer :-

« The intensity of the sound produced / Jdrfad & ot digar

47) Ecosystem is constituted by /
uiifRufas & &1 fmfor fea Q glar &
1. Dead organisms / Hd Sita

2. Only biotic components. / Had Slfdd e

3. Only abiotic components / Had 3IfdP T

4. Both biotic and abiotic components / Sfa® 3R 3ifass Ted gl



Correct Answer :-

« Both biotic and abiotic components / Sfdw 3R 3o Tedh aHl
48) CANCELLED

Fever is caused due to the /

JER &1 SR g4l 8:

1. overgrowth of bacteria /Wﬁ &qu@

2. overgrowth of virus / ATIRY 1 WQ@

3. overgrowth of pathogens /W?ﬁ WW@@

4. body inhibiting the growth of pathogens / YRR ISHD] o [AHTT BT v %

Correct Answer :-

» body inhibiting the growth of pathogens / YRR INTSHD] b [dDHTT BT vl %
49) CANCELLED

We feel more comfortable in light coloured cloths in summer than dark coloured cloths
because: /

ﬁﬁﬁw%ﬁﬁmmmww?mww%m

1. Light coloured cloths absorbs more heat radiaﬁon/WQ‘T%W, 3P 3 fafepur ot
SN FHRdl B

2. Light coloured cloths absorbs less heat radiation /BﬁW% Obqé, HH 3 fafzor &
SN Fd & |

3. Dark coloured cloths radiate more heat radiation /W%T‘T%W WWW,
CEACRSRGR

4. Light coloured cloths absorbs more moisture / 8¢ T & HUS AP TH BT NS B &

Correct Answer :-

« Light coloured cloths absorbs less heat radiation /WT‘T% Obqé, HH & fafdur &

TN HRd

50) CANCELLED

Raj pets a dog behind its ears because he saw his father doing it. What type of
learning is he exhibiting? / ISl Udh Qﬁ P3P S TS IS WIR dhdl 3



FHife IT U= fUar &1 01 Hd ¢ UT| 98 fFg UpR & iR &1
TR PG 8

1. Instinctual learning / JeT UJATHD ST (SRS SIBH),

2. Observational learning / Ueruiig S (&ﬁwé%zm?r ?‘Iﬁrf)

3. Socio-cognitive learning / FTHTIG-HHIH® ST (ARA-HHITCd @l-T)
4. Latent learning / 3{cddd 3fTH (ﬁ%‘c’ FTEF'D

Correct Answer :-

« Observational learning / Uefuig 3ffeRTH (&f\f@a:-‘{ﬁa Q)

51) A vehicle is moving with a speed of 90km/h. What is its speed in m/s? /
TS a1g 90 ot/ der 3t fa & S dgar g1 Hiex/d. | fHat g2

1. 90 m/s/ 90 T/ Ho

2.15 m/s/ 15 HieXHo

3.2.5 m/s/ 2.5 Hiex/&o

4. 25 m/s/ 25 HieI"o

Correct Answer :-

e 25m/s/ 25 HexAo

52) A teacher can use which of the following strategies of teaching to complete the
syllabus for a class having majority of students with different learning pace? /U® ﬁT&W

STYBTRI: MR- A | ARG a1 BT B! b H&IT & UTSUHH Pl WeH B &5
fore FFafafaa & @ feg o 1 STahT X J&dT 82

1. Use of ICT resources / &ﬂé?ﬂ_a TTEAT BT SUINT

2. Individualized classes / STTTd HETT

3. Conducting tests every week / gX Hidlg PRENEIRISEERS
4. Teaching only limited syllabus / dhad GIfHd Uredshd UgHI

Correct Answer :-

« Use of ICT resources / &ns‘%ﬂ?r TG1YAT BT TN

53) A" ion containing 18 electrons and 18 neutrons. Name the element A. /



TP AT A° H 18 Fadel 3R 18 Y1 8| Icd A HT HTH FaTd|
1. Potassium / TCTRIH

2. Chlorine / FIRIA

3. Nitrogen / :ngaTﬂ—*f

4. Aluminium / Q?I&Iﬁzm

Correct Answer :-

« Chlorine / FRH

54) Animal parasites are also consumers. Identify the ecto parasite from the list given. /

uY] TRl ot SuiaT g g1 & S g & SreruRsidt st ugaH |
1. Lice/\_!i

2. Plasmodium Wﬂ%’qﬂ

3. Pinworm / fUfH
4. Tapeworm / WIdThH

Correct Answer :-

55) A student with a scientific attitude will: / ASITI=TP TIYHIUT ATAT T BT TR -
1. Develop independent thinking / Tda T f[amRid &3 arer

2. Admit their mistakes only under duress / 3T Al &l Had GaTd H WPR
ERCKCI|

3. Ignore details irrelevant to the task at hand / BT EauEGEE: 1?«1? 3UTERTH
faaRUT &1 3FgET B arell

4. Suspend the judgement after one-time confirmation / Uh-dR Pl g@ & dIg fAofg
R B dTell

Correct Answer :-

. Develop independent thinking / ¥ddial I f[amRid e arer

56) What is the basic education qualification laid by the Educational
departments of the majority of states for a high school class science teacher? /



o 3o faenmay ot fagm= Riere & foru siftreiwr Isat & ffée R[YT grR
Fruffea gaya Rrem aivgar #m 82

1. Bachelor degree in any subject / fodit +f} fawg H \rdes Iurfd
2. Bachelor of Education / ﬁT&ﬂ H s

3. Bachelor of Science / Irak‘ll"l H HTd®

4. Master of Science / Ta3H & TTdd IR

Correct Answer :-

« Bachelor of Science / i-ak'll"l H 9dd

57) A learner is able to solve numerical on current. According to Dale’s ‘Cone of
Experience’ he has most probably ./ b fQT&IT?ﬁ YRT (PIC) W
TRITHD U P AP A A S SA D ﬁqwqaﬂﬂ’rm & AR
HYad: 394

1. read a book / YIdh tl?ff %
2. watched a demonstration / Uch QEQ]C'_‘T 2G| | %
3. role-played a situation / b TR & YfFrenT BIER

4. heard a lecture / U IR g1 §

Correct Answer :-

. watched a demonstration / U uq&h c\i@ll %’

58) Achievement data is collected with a focus on the science content that is
most important for the students to learn. Which of the following facts leads to

a contrary opinion? / G'CIFI'@[@ET, ﬁ?l'ﬁ'\‘l'l'q'&ﬁtl?' T Bigd HIH & ATY
U3 fohar wiTar 8 o B & Ja & e 999 weayt 81 fFufafaa # @
®I19 91 9 faudia I 3a1 82

1. Equal attention given to the assessment of opportunity to learn and achieve/

R 3R YT B & TR P 3MTha- TR FHH &7 1

2. Knowing and understanding scientific facts, concepts, principles, laws or theories/

e a, sraurunaf, Rigial, Rawt a1 Rigidl &l ST 3R gHMT|

3. The ability to inquire / &5 dIH HR DI G|

4. Focus on intelligent students only / Had g@HH S UR &7 STl



Correct Answer :-

« Focus on intelligent students only /W@@Tﬂqmw T T |

59) Which of the following learning approaches can help a student to
summarize the material for exam preparation? / ﬁ'ﬁ'ﬁ'ﬁ@ﬁ A9 CaC| L3l
RRTH DIV, TH B B Wien ot ARt & e Gl #f IRk wea |
HGE B APl 82

1. Experimental learning approach / U SffeRTH WUT
2. Concept mapping / b U EIEIEEL

3. Rote learning approach / DR HITH E@W

4. Problem solving approach / JHYT JHTYTT BHECAL

Correct Answer :-

. Concept mapping / Hb Tl EIEIEELY

60) The emphasis from teaching to learning can be achieved / fRreror 9 srftnme
% SAYRCT B f3=1 gIRT T foram 1 et B

1. by encouraging rote learning / 3R] HETH B UiTgd Hb

2. by helping child achieve good examination results / o Dl 3w RIS uiRkomy
T X H HaG IR

3. by adopting a lecture style instruction / Udh T4 Qe G BT ST
4. by adopting child-centred pedagogy / STd-ohiad FRITRIRG BT TR

Correct Answer :-

. by adopting child-centred pedagogy / STd-oiad FRITRIRG BT 3TATHY



